ACIA RS R £ BEE > 1/2012—4/2013 ISR &

2011 4 12 3 30 H [ £ 2> Bank of America i |- balance A: $3310.
1/2012—4/2013 55 i\ 2340

1) BEHRZEKILSo00

Bk $100
Bt $100
Mg $100
XN EE $100
sk A $100
MREE $100
JEHEEE $100
REF $100
BR&1SC $100

2) 2012 HERFIA . 51440

1/2012—4/2013 557 . $3591

D) AR 2 $2201
2) 2/12/2012 %%
3) Henanusa.org 4 7
4) 8/25 $EE#EH) $10
5) 2011 2 EUkSCH $100
6) FKFTRZIT I
7)) FEEA L E
8) Bank of America K )V E BE % $48
9) HERAHE $60

2013 4E 4 A 12 H 7] 2 <> Bank of America I = balance A: $2059

2011 S50 1/2002—4,2012 0K $3310+$2340=55650

4/12/2013 /0 1/2012—4/2013 L HA:  $2059+$3591=$5650
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